Домашнее задание на арифметику в позиционных системах счисления

	1. 
	А)110101012 + 11102; 
б)110101012 - 11102; 

в)110101012 · 11102; 
г)100100002  :  11102; 

д)378 + 758;
е) 2568 + 10110,12 . (608 + 1210) - 1F16;

	2. 
	А)111010112 + 100111012. 
б)111010112 - 100111012. 

в)111010112 · 11012. 
г)1011012  : 1012. 

д)A16 + F16;
е) 1AD16 - 1001011002 : 10102 + 2178;

	3. 
	А)10111012 + 111011012; 
б)10111012 - 11011012; 

в)10111012 ·11012; 
г)101110011012  : 1101012; 

д)1916 + C16;
е) 101010 + (10616 - 110111012) + 128;

	4. 
	А)10111012 + 11101112;  

б)   1011000100(2) – 1000100000(2);
в)  1000000(2) ( 100101(2);
г)  1110100010012 : 1111012
д)1658 + 378;
е) 10112 . 11002 : 148 + (1000002 - 408).

	5. 
	А)1011,1012 + 101,0112; 

б)  1111100010(2) – 101011101(2);
в)  1100110(2) ( 1011(2);
г)  111111001012 : 1010112
д)7,58 + 14,68;
e) (11111012+АF16):38

	6. 
	А)10112, +112 + 111,12; 

б)  1011010101(2) – 110011001(2);
в)  100111(2) ( 1101(2);
г)  1000110111002:1101102
д)A,B16 + E,F16;
e)1258+111012·A216-14178

	7. 
	А)10112 +11,12 + 1112; 

б)  1010000000(2) – 1000101010(2)
в)  11111(2) ( 10001(2);
г)  1110100010002:111002
д)E, 916 + F16.
e) (11111012+АF16):38

	8. 
	А)110101012 + 11102 +68, 

б)  1110001110(2) – 100001011(2);
в)  111011(2) ( 100000(2);
г)  1011110011012:1101012
д)178 + 78;
e) 10112 . 11002 : 148 + (1000002 - 408).

	9. 
	А)111010112 + 100111012 

б)  1011111111(2) – 100000011(2);
в)  110000(2) ( 1101100(2);
г)  1000111111112:1011112
д) 378 + 758;
e) 101010 + (10616 - 110111012) + 128;

	10. 
	А)1011,1012 и 101,0112; 

б)  10,112 - 100,12;
в)  1011(2) ( 100101(2);
г)  1000100001112:1110112
д) A16 + F16;
e) 1AD16 - 1001011002 : 10102 + 2178;

	11. 
	А)111010112 + 100111012 

б)  1112 - 101002;

в)  1011012 · 1012;

г)  1010111101012:1101112
д) 1916 + C16;
e) 2568 + 10110,12 . (608 + 1210) - 1F16;

	12. 
	1. 110101012 + 11102; 

2. 111010112 - 100111012. 

3. 10111012 ·11012; 

4. 1110100010012 : 1111012
5. 3,58 + 14,68;
6. 1258+111012·A216-14178

	13. 
	1. 111010112 + 100111012. 
2. 1110001110(2) – 100001011(2);

3. 11111(2) ( 10001(2);

4. 1000110111002:1101102
5. 478 +1758; 
6. 10112 . 11002 : 148 + (1000002 - 408).

	14. 
	А)111010112 + 100111012 

б)  1011111111(2) – 100000011(2);

в)  111011(2) ( 1011(2);

г)  1110100010002:111002
д)2A,4B16 + 5E,6F16;

e) (11111012+АF16)+38

	15. 
	1. 10111012 + 111011012; 

2. 1011000100(2) – 1000100000(2);

3. 1100110(2) ( 1101(2);

4. 1000110111002:1101102
5. 4E, 916 +5 F16.
6. 10112 . 11002 : 148 + (1000002 - 408).


